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In[64}:=

116a

In[67]:=

Out[67)=

b

In[68]:=

Out[68]=

In[71):=

ouf71]=

In[72}:=

out[72]=

Prob 5

1(1+1) 2)
—_—|

Hy [£f ] :=0,,0f4+ [— "

P P
(1+1) 1
Am; [f_ ] :=09pf+ |— - £;
P l+1
(L+1) 1
Ap, [f_] :=0,f~-|— - ]f;
- P 1+1

1
Hi@u[p] == Am; @Ap; @u[p] + — u[p] // Simplify

1+1)2
True
1 1
Ap, @Am; @u[p] == Amy,; @Ap,,,; @u[p] + - ufp] // Simplify
(1+2)2 (1+1)2
True

u[p] Am; @Ap, @u[p] // Simplify

ulp] ((L+313+1%+12(3-2p) -41p+ (-2+p) p)ulp] - (1+1)2p%u”[p])

(1+1)%p?
2mA
Solve[lp (1p+1) =1 (L+1) + , 1p]
—ﬁ2+\/8Amﬁ2+f14+4lﬁ4+412ﬁ4 h2+\/8Amf12+ﬁ4+41ﬁ4+412ﬁ4
{{1p—> }l {lpe—
2 h? 2 72

in(76:= Amy@Am; @ Am, @Am; @ (p5 Exp[-p /5] ) // Simplify

Out[76]=

In[77):=

out[77)=

Prob 6

63 s
P e?5p (9375 - 7500 p + 1500 p? - 100 p° + 2 p4)
5

1
Ho@% == — % // Simplify
25

True
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63
In{100}:= Plot[—s—;g /5 p (9375 - 7500 p + 1500 p> - 100 p° +2 %) /. p» pp5/1.8, {p, O, 55}]
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